
 ����(1):  

1�� 	
�	
 �
��� ���	 ����	:  

 ����� ����	
 �����
��� ���	��� ���(4) .E  �������� ������ ���
�� �����L  ������� �����C  �� ������� �����
 ���
  �� ����v0 .����!�� ���" ����#� ���$%
 .  
 &�'�  

BA VVv −=  
(1  �(����#�� )���*+�K   �,����� 	����-t=0  .�����v0=0 �������*� �����/���� 0����12!�� ����$ ����� �v(t)  �������*��

i(t).  
(2  
 &�'� �������� �
�3� 04���� ��:  

a) E = 100V,  v0 = +50V. 
b) E = 100V,  v0 = 150V. 
c) E = 100V,  v0 = 250V. 
d) E = 100V,  v0 = -50V. 

 ������ ����  � �� ��+� 0������ 6���v  �������i.  
(3 �� 	��	 ���7%
 0������ 6�� 	-
 ��#
���� ���	�� �� ���v(t)  �i(t) �"
  �:  

a) E = 100V,  v0 = 100V. 
b) E = 100V,  v0 = 0. 
c) E = 100V,  v0 = -100V. 

 ����*� ��8�9��� ���#�� ���� �� �� 		�v. 
(4  ��:��� �� ���(3)   
 �
�-� �2-
E=0  �v0=-100V ����*� ��8�9��� ���#�� 		� �v.  

����:  

 
 �����(4) : �
��� ���	)L  
C.(  

;< �$ �2-
 ���
��� ���	*� ��*7�'��� ��	�!���:  

∫+= idt
Cdt

di
LE

1  



.�� :
dt

dv
Ci =  

( )1......................
2

Ev
dt

vd
LC =+  

��	�!�*� 6�!�� ����:  
( )2....................sincos EtBtAv ++= ωω  

 .��:
LC

1
=ω.  

  ��
�� =���$A  �B ��$�  ����
  �(�� 	�"�> ?"� ��� ���9��
�� ?"�:  
-av(0)= v0   �,�� 	�-t=0 @�*-�  

( )3.....................0 EAv +=  

-bi(0)=0 ) 	���- 6�	��!� ��������t=0  ����*#
 �'����� 	��!
 B���7�
�t=0+  �����������  �����#� B�	������� =�����
 �*-�'��� �� ����� ������L  .  

 ���	�0=
dt

dE ���	��:  

( )4....................cossin tBtA
C

i
ωωωω +−=  

          B��>         B=0          ( ) 0..0 == ωBCi  
�$ ��C��*� ?������ D�E�� �����  

( ) ( )5...................cos0 EtEvv +−= ω  
( ) ( )6......................sin. 0 tvECi ωω −=  

-2 ������� ������ 0������:  
 ��� ���(!��� �����3� 6��#�� ?��� �B�'*�E�  ���  
  ��� ���� ���v0 .  ����  
 /��2��A  ��� B��
��F

 B�
���  ���.  
G<  ������*� �������3� 04	���!���V  ���������I  H
���� ����� ���	 ����� �2��E  ���� ����$ ����� I��#
�

 	��	�� ,"� 6�� .�� �B���	!� ������i=0 . ��9��> ���� ����� ������� ��� ,�"� ����� ��� 6��/��� I�#
��
 ������ 	�- B������ ������ I#
��� ���	
��� 	�-v @��> ��� J��� .  

�������  � K�,"3 ������ ��9
 ������ /'���  
 �'�� �B��*�- .@�*-�:  
-a  ��������  ����� ��	���-E= 100V  �v0= 100V . ���� ��������> 6	��!� �K���� .	����  ��� ����� ��

 ������I  ���	�� ��)�����L.(  
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 �����(5) :�������� ������� � �� !" ������
 ��
��� ���#�#�. 

2�  ��
����� ���	�� $� 	
�	 %�	����: 



  
 �����(6) �&�'�� � ���	.  

-b  ������ ��$ ��E = 100V  �v0=0 ) ���� ��F ������ J
( ����#��  ��  ����� 
	
� ���� �
�'�.  
 ���	�:  

( )tEv ωcos1−=  
 �
���� ���� �!7� �������� ���#�� I�> ������ ���� ��� ����E       .V=2.E  

 ���	
 ����� �� ���(7)�12!�� ?�� ���� ������� �:  
tCEi ωω sin...=  
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 �����(7) (
��� ��) *����� (
�� ��	#& ������
 ��
��� ������.  

  



c <   ��� ���� ���E = 100V  �v0 = -100V  J������ �����!� �����
 ����� �� �������  
 J

�
���� ����.  

������ ����� ��/���� �12!��:  
100cos200 +−= tv ω  

 ���� ���#*� �8	�- �8�9��� ������ ���� ���v = 300V.  
�12!�� ?�� ��� ���	�� �� ����� ������:  

tCEi ωω sin...2=  
 ������(8) ������� ������ ��� H7�� ���	
.  
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 �����(8):*����� ���
+ �#�� 	
,
 	#& ������
 ��
��� ������.  

(4   ��� ��	�-E=0  �v0 = -100V  
���
  �� ���� �� @�
 B��*- �����!� ��
(#
 ������  �� �	�-> ���� ������ ��$ :  

v0= -100V. 
 �7�
� ������� ����*� ��/���� 0�12!*� �	�!��
E= 0  ���7> (�� ���7�ٕ�i ≥ 0  0�12!�� 	"�

�	�	"�� �������:  

0

sin...

cos

0

0

≥

−=

=

i

tvCi

tvv

ωω

ω

  



 ���� @���� O�!� ��������
(#�� O�- �2E ������. 
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 �����(9) *����� (�� �	�&-.  

 

 ����(2):  

 �������!'�� ������F ��������!�� 	�����!

 		����(Passives)  �����(#��� ������ ��	E���������  0�������������� 0�'���������
 ��������
  ����
��� �*����*����(14) .����� . �����- 		����� 	����- ����(#��� �����!�200Hz . ��	���1 ������
 �������

5Ω . ���+� �
���24V . �������*� ��'��  �,  
 &���100µs .	�1�'��� ��$
.  
  

����:  

 ����� ����(15)  P����3� ����
. ������� ��"�� ���� ?��� @��
 ���/�2���  ���� �������� �����E4
 ����� ������!��VT1 )������8��� ������������( ������  ����, �T1  ����"���� �������� ����� @����*- ���������  ������
  � ���Q�–E  I��+E .�12!*� B�!
��:  

T

t

AeEV
−

+=  
 	�- 	"�t=0  ��� ���� ���	
T1  
:  

T

t

EeEV
−

−= 2  
 ������  ��� ��	�-V=0←  ,"���  �,t=100µs &��!���
 @�*-�:  



( ) Te

610100

242240
−×

−
−=  

 .��sT 41044.1 −×=.  

  
 

 �����(14) :.��/�� ��	0��� ���	 $� !������� $'/��� �&�'�� � ���	.  
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 �����(15) :���	�� �1�#& *����� 2�
�3� ����+.  

    �12!��  ��T=R.C   	"�:  
FRTC µ295/1044.1/ 4 =×== −  

<  ����������� ����� ���"
  ���T2 . I��*- �����!�� �������� ����� ���/�2�  �����T2  ���$�VT2 .  
 	��"�
 ���	*� ,�,�$4� ��	� ���'�� �
� J���� ��'��  �,(LC) .��:  

LC
π2

1
10100

4

1 6 =×× −  

 ,�,�$4� )�#��� ��,2�� ������  %� @���L=0.14mH.  
< �(!� �*���� ������ �� ��,E��� ��	#��  �
 ��������:  

22 ..
2

1
.

2

1
ILVC =  



,�,�$4� ����  %� @�*-�:  

AI 9.19
1014.0

241029 2
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< J���� 68�	�� ����� ����:  

A
R

U
iR 8.4

5

24
===  

<  ��������� D��E1T:  
<  68�	�� ��+���� ���� �� ��������� ���� =4.8 ��
�
.  
< ��/-3� ������ :15.7= 10.9 + 4.8 ��
�
.  
�  �
������� 4�
�2T 
,��� %	������:  

 ���������T2 ������  ��� 6,2�� ������ S�� @
 ���  � ���.  

Aei T

t

16.1
5

242
=

×
=

−

  

 ����
 ������� ����E�  ��� ��/-3� ������ ���� @���� ���1.5A . ���- �����24V.  
<  	�	�
 ����� ����E�  ��� 	��	��2A @�� 	�1�'��� ?���  � =���.  

  
 ����(3):  

 ��� ���	
 ���
��� ���	�� ��(18) �*� �� ���  �
:  
-1 @*�+��  - 6"�� ����� ���3� ��������� ��+�� 6�� I��.  
-2 �������  - �#� ���� T������ ������ ��������� ��+�� 6�� I��.  
-3  ������� �!�� �����E� �� ���:��� ����!�� ��C  H�7� ��	��� �2�E ������� I�*- ������� ���� ����
=��.  
-4 ��E� �� ���:��� ����!�� �� �*��� ���� ��L.  
-5 ����� �� ������� ������ ��� ��. 

 ����: 

; < ����� �� ���
��� ���	�� �� (18) �*� ��� ����(��� �*8�3� I*- �
�"U�  ��� : ��+�� 6��
 �
����  � ����� ���� ��� @*�+�� S	�� �*�*���� �(#��� ���	
  � ��	 ���	
 �� ��3� ���������

 ��� �2E ����� I�> ��3� ��������� ����� �Th1.  



-2   �,�� 	�-DT  ��������� ��+�� 6��Th2  ��������� K�'(> 	�#
Th1  ��+��  3 =��Th2 
 ������ ��
(1  ���C  (
9� I*- ?"�� ���� )�
(�
 H��� �
"��  ����� �9"Th`1  �����

 ,"�  �:� ��$� �	!�� I*- ?���Th1 .@��
(1 O��!�� K	
� ������ V��'� K�9��� 	!
 . 6	-�
 �#� ��� ������  � ���� ����Th2.  
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 �����(18)  !����� $'/�� �&�'�� � ���	).��/�� ��	0��� ���	.(  

-3 �$ ������ �!� ����E� �� ���:��� ����!��:  
< ��������� ���  �,.  
< 3� ����� �����������*� ��/-.  
<  ������� �
���� ���� �� ���!�� ?������.  

E

It
C L

.425.0

. 0∞=  

-4  �*��� ���� ����E� �� ���:��� ����!��L �$:  
< ��������� ���  �,.  
< ������� �
���� ����.  
< ����� ���� �� B���-  

0

0

.425.0

.

LI

Et
L ∞=  

t∞ :�(�#*� ��'��  �,.  
E0 :�
���� ����.  
IL0 :����� ����.  



-5 ������� ������ ���: 

  
 �����(19) ����� ����
 52���� ��
�.  

 ����(4) :  

 ������	
 ������� ����  ���
��� ���-�'��� �������� J� (����
�� ���(#��� ���� @!��7� 6,2���� �������� �!��� 		���
(20)  ��	�1 ����
 ��� �"
  � =���6Ω ����+��� ��
��  
 B���*- �36V . ��������*� ���'��  ��,T1 
 �$80µs.  
 �ER2=5R1 ��'� 6,2�� �
��#��� ���4�  �,�� ?���� �T1 .	�1�'��� ��$
.  

  
 �����(20) !&��� *��� .6 '��0 $'/�.  

����:  

 ������� ����	
�� ��C  ��
���� ����� I��� B�������  ����E . ����������  ��� ���� ��� B��>T2  �B2����
 ������ ���( I*- ������  %�C ) ��������� �
T1 ( J����:  



T

t

EeEV
−

−= 2  
 �,��"��� ������ �����9� 	���-V  ���"
  ��� =����� 6	��!��693.0=

T

t  ����
�-�
 ���"�����
�CRT ×= 1    �

st µ80=  %�:  
FC µ2.196693.01080 6 =×××= −  

<   ��� ��	�-R2=5R1=30Ω . ��������� ����� S	� B��>T1  ���1 ��+�� ���C  3 �  
T

t

EeEV
−

−= 2  
 .��CRT ×= 2  ��������� �T1  H
�� I�� �������
 �����  
 ?"�EV 8.0=  �$�

  �,�� 		�� J���t  V��
��� )2FW�1.33ms ��������� ��+�� 6� ��>T2  ���+�  ������ ������

0.8E  %� �C  J�����22.7µF  ��	1 ,"�  �,  �:� �� =���80µs.  

 
 ����(5):  

 ������*� &���E �*���*�� ��(#�(Buck Conv.)  ���
��  �� S���+�100V  ����������� ���!� 6	E�������
 J������ ����(#� 		���� 	���-1000Hz . J������ �����*� ����	#��� I���/!�� �-�(����4��10kW .  ���� ��>

 ���� ����� �'���� I���> ���� ���9� J�+���3� �������  
 .����
 ��*-�'��� ������ �����1 ?���� �B�������� ��(#���
 ����� �-�(��� 0��� ��> ��	��5kW.  

  
  
  

����:  

 ����� H7��(23-a) 6��- ����
 ������� 0�������� 0�������� �-�(��4� ���	 .� �������  
 &��'
  ��I 
��	 ����� ������� �'���� �������#*� ������ ������ .  
� ���������� @
���� ����������  
 �����#��  ������� @����%�Imin=0 .

�12!��
 �	�- I(!� P�E�� �-�(���:  

R

V
P l

2

0 =  

�12!��
 �
����  � �E	�� �-�(��� I(!�  

avSi IVP .=  
 	�	����  
 ��
�100% P�E�� �-�(��� J���� �E	�� �-�(���  %�.  



< (������ �*��� ����:  

2
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Iav =  

<  �*��� ���( I*- ������)�*-�'��� (J����:  
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L t

I
LV max
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===  

< �12!�� 	���-�
:  
( )

F

RD
L

.2
1−

=  

 ��	�� ���- �	��,
 	�	,� ����� �� �-�(��4�  
 	"�D  	��- J
D=1  ������ ����� ��8	�-�V l = 

VS = 100V ����#����:  
( )

Ω=== 1
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100 22
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V
R l  

 ����� �� ���#���� �-�(��4� 0��� ��> @�*-�5kW �8	�-:  
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100

1
.

1
=== RP
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@�*-�:  
( ) ( )

mH
F

RD
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(a)  



 
(b) 

 �����(23) ��
��� 7"�� !����� $'/�  

-a �&�'�� � ���	.-   b ��������
 ����
���.  
 

 ����(6):  

 ��� �*�*�� �(#�(25)  		��� 	�- ��!�4kHz ��������  ��, �20µs . ����$�/�� �����#��� ?����
 ����� ����#�  
 B��*- ��
��*�R0=12Ω.  

����:  

  
 �����(25) !����� $'/�.  

< �$ ��	�� ���-:  
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<  �
��*� ���$�/�� ����#���RS �12!��
 I(!�:  
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@�*-�:  

( )
Ω== 1875

08.0

12
2SR  

  ���#�#��� ����#��  
 S��� ������� ��$ �� �����#�*� (Actual) ��(#��� 6�	E����
 B������ 	�	,��  
  ���� .
��9��
 ��
� �2�E� 	�"� �� �������
 �(#��� ����#�  ��� @�*-�.  

 ���9" I���> �����!�� �������� ���9"  ��� � �$���"�4� 2��� ���� �-�(����4�  �����"
 H����� ��������  3 =����
������� ���������O�!�����
� &'E . �������*� &�����E�� ����(#��� �������
(Step- down)  �������� (���#� @�������

&'E���� ������ �9" I�> ���!�� ������ �9"  � �-�(��4�.  
G�8   !������� $'/��� ��& ���9#BUCK Regulators )��
��� 7"��:(  

 �������� �����  ����
��� �*����*���� ����(#��� �����(26-a) �E	����� �������  ���� ����1
 X�����8�	 P����E�� ������� . Y������
 ��� 	�- I��3� ���!�� ��*���Q1 @*�� 	�- �������� .����� ����� �� ������  
 �
�-�.  

  
 �����(26-a) �&�'�� � ���	.  

����: ���	
 ���
� �������� I��3� ��!�� ����� �� �8������ ���	��:  



 
 �����(26-b) �������� I��3� ��!�� ���� �� �8������ ���	��  
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�*� �� ���  �
 J��������� J��"�� ��� �*�*���� P�!��� ��:  
-1 T6	E��� ������ ���	�� ��$ ��!� ���  
-2 ��������� ����� ��
���� ���� ������� V��'��  �� ���� ������ ����  �
 ��/���� 0�12!�� ��.  
-3  ���� ��� 6�� �8	�- ���� �B���!� �����  �� ��> ����� ���( I*- ������� ������ ��� ��
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- b  P�E�� �-�(���P0.  
- c ����,���� ��� ��/-3�� (������ ������.  

 - d  ��/-3� ���!�� ������VβR ����,���� ���.  
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- f  ������ ���-DF.  
����:  



Vs

Load

Vs/2

Vs/2

C1

C2

a
0

i0

Q3

Q2

Q1

Q4

D1

D4

D3

D2

  
-a �-�(��4� ���	. 

VS

-VS

VS /2

-VS /2

-VS /2
VS /2

Va0 

Vb0 

VS /2

Vab

ωωωωt

ωωωωt

ωωωωtT /2 T 

T 

T /2 T 

T /2

i01

  
 ���(2-7)–a �
'�� .	��+ .��, 2�:�� �&�'�� � ���	.  

- b 0�������� 0�������.  
-a �12!��  �:  

S
S V

V
V 9.0

2

4
1 ==

π
 

  
���	�:  

VoltsV 2.43489.01 =×=  
-b �12!��  �:  



( )

WP
R

V
P S

O

960
4.2

48

0

22

=

==  

-c ��/-3� ����,������ ����  

AI P 20
4.2

48
==  

 ����,������ ����� �(������ ���#��  %� ���	 ��� S�� ���� 4 	����� ����,������  
 ��
�
IQ=10A.  

-d ��/-3� ���!�� ������  
VV R 48=β  

-e  ���	�V1=0.9VS ���!'�� ���#���.r.m.s  0��#������ �����  

( ) S
n

nh VVVVV 4352.02

1
2

01
2

0

2

1

...3,2

2
0 =−=






 ∑=

∞

=
 

@�*-�  

%34.48
9.0

4352.0
==

S

S

V

V
THD  

-f  ������ ���-DF:  

S
n

n V
n

V
048.0

2

1

..3,2

2

2
0 =












∑ 







∞

=
 

 @�*-�:  

%382.5
9.0

048.0
==

S

S

V

V
DF  

 ����(20):  
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 ?���� ��	�� �� ����� 0� �� (E�� ����
0�12!��  � ?��� (�(E�� 0�����  
 .�� �#
���� �#��(��:  
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< ��� �*����� ��F� �*����� �(��#�� ��*�� �*����� 	���� ��� �(�
��� �8������ ���	60   � �"�	
��	�� .  � ���'��)0  I��60o( �#*+��� �(��#�� �6+1  
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Step III (� ������)120  G��180o   ((2+3) ON 
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Step IV (3, 4) ON
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 ���)+�10�2 ( ��H0# 7�:0 ��:� �
'�� .	��+ .��, 2�:�� �<"����� ����	��120o �,�	 .

!�,# ���0 �1
� �����.  
  

 Y	1 0�7
� &�- 	�- P�!��� ��- 0�,��120o  0�7
� &�- 	�- ��!�� �#��(
 ����#���

180o �*���
 �9��E*�  ��� �"�	:  

-1  6�/� ��180  �������*� Y	#�� �7
� �P�!�*� �"�	T1  	�- �9��� ����,������ �
ωt=180o 
 �(�#*� Y	#�� �7
� 
	
� .��T4 ����
� . I*- ?"��T4   %� 6*!*�� �����*� �#���  
)T1  �

T4 (_����� O'� I*- ��$ . ���!�� ���  
 ��
�T1  ��- ������  %� �B��/�� 6�� 4T1  �T4 
������� �
���� ���� ��1 ?
�� ��$� ��9��
 Z���  �, =��� 6� ��> .	�� 	1 B����.  



 0�7
� &�- 6�	E���
 	�" ���
 �9*� 6� �*����� ��$120o . �	�!� B���, ���� ��
60  �"�	
 ��'�T1 +�� 6� ��T4.  

-2  0�7
� &�- 	�- ��!�� 6�/� ��120o �(#�  �(
��  � ���(d� 0������� P������ 6�� �
 ���� �� ��/�4 ����
180o  ���'� ��!� �
"���� ���(3� 	�
  
 �"�	180  ��!�� �� @*
�#� �"�	

 ��*'��� �9"�� 0���������� �
 ?����� K,"�� ��  ���()?����� ��"�4� 0�� .($ ��� ������ ��
 �����  �� ��	��-�Z=R ���
 .������� ���� K�9��� �� B����
� ������ �9��� �8	�-� .  �� ��� ��$

 B�	�#!� ���
 0�������� 0������� ����
 P������ H
�
� ��(
 ���'� ������ ����4 �B���� �����
�
�!��. 

<  ���(3� 0������ @����� ��*��Va0  �Vb0  �Vc0 � �"����� ����� �)	<10<2 ( I(!�
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 ���)	�10�2 ( 7�& J	E ��H0#120 �,�	�  !�
+ ��� 	#& '
'���
 ��
'3� ����
�

*�1.  

<  ��(�� ����� �����3� �
���*� ���!'�� ���#�������
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< �12!��  � �$ B����- ��(�� ����� ���!'�� ���#��:  
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���*� (E�� ����� ���!'�� ���#��:  
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 ����(22):  

 ����#�
 B����
 B2�� J�+� ���(�� J	��
 ���� P�!�12Ω . ������� �
���� �E	 ����120V .
 ��!�� 		���20Hz . ��	
��� ���� �!�� �
���� �!���� ���1 ?���),"��� (6	E����� .  
 �
�-�

 ��������� ���  �,50µs.  
; <  ���� ���7> 6� ��>L=0.06H @�!�� ������ ���� I*- =�� ��
 �e*� ������ I�>.  
\ < � 0�� 04	
��� ��- ���[ ���'���
 Y���  �
� �9��
 (
��� ������ ����� )��(  - ��	
��

 J��#�� ��	
��� 0�� ������ 0�"�!�.  
����:  

 �����)2-13  (��(�� J	��3� ������ P�!�� �-�(��4� ���	 H7�� ���	
. 
 �*��� ���� ����E�  >(L)  ���� �� 0���+� .�	� S	� ��
���� �����  �,�� 0
�� I*- 	��!�

����� . ����� ����J���� 68�	��:  

A10
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120
=  

 �	!�
 ������ 	�	,�� ����� ���� �� �	��, .�	� &�'
(1) ��	 ��� ��
�
 .�8	�-:  
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 ���)2-13 –A  (������ 2�:�� �&�'�� � ���	.  

<  0���������� ,"� 	!
 B����
� �����*� 0�	��	�� �#���T1  �T3  ���)2-13( ����  
 ��
� �
 0�'�����C1  �C2  ���( I*- 	"���� ��� ������ �
����  �
 ������ )��  %� �������L ��� �

����*� �!��� 0���+� 	��� . I*- /���� �
���� ����  
 ��#��
 ��� H��� ��� ���+� 0���+��� ��$
 @���110A.  

< �$ ���	�� 04	�!�:  
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 ��C  �
���� ���� J���� ����
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�(!� 04	�!��� ��$ ��:  
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<  ��������� ���( I*- ������T1  �
(T2)  ����� ���� 6	!�� ��	�- B����- ������ H
��� ,����
 �*��� ���� �
iL ,"���  �, �tQ=50µs  �$� @��	E��� 6,2�� ������ �!� �(!� �2-
 �12!��


C=3µF.  
-2   Q� H
�� ���� �2-
 0�	E��� ���� ��*7�'��� 04	�!��� ��	!� ��!� ���*� ���� ���7>

�����
:  
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<  �EC
C=3µF ���3�  ���� ����� �V0= -120V�����
 I(!� �2-
 04	�!��� �� �:  
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<  �2E 6	!�� ��� ������ ���� ��2-
 0�12!�� ?��980µs   ,"� 	�- =��� �D1  �D3 .
 ���#�� 	�- B��*� O�!�� ����� ���� I*- �/������
10A  ��� �����120V . ���'�� �2E

980µs  I�>  ���� ���� ����  ��� ��� ������1933V . ��
� ���� �$�(excessive) 
������ 6�(�� I*- �	�1 ,�"���� ��������� 6�(�� =���� . ������  �� ��7��  
 ��!� ��$

 ����*� ���
 ���
120V �	�" 0���.  
0�'����� �!� ��� ?"� ���������� I*- )
(��� ������  � &'E� �� . B2�� 0��� ��>

C=20µF . J���� ����*� ���
  �� ���� 	�-�-110V H
�� �#
���� 0�12!��  %�:  
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 ������ ���� ��	�	"�� 0�12!�� ��$ ?��iC  	!
 6	!�� ���4ms . ������ ���� ���
 H��� ���
 ���#�� I�� (#�1000V . ������ �!" 	�- ?������  �,�� �$ 0��������*� ������ ,"���  �,

VC=0  J
1.59ms  6,2�� ��'��  �,  � ����
 �
�
 @�
 H7��  �,�� ��$ �������*�50µs . J

 �(
���� P�!��� ����� ������ �!�  
.  

 
 



 ����(23):  

 6��#� ��"  � J�F ���(�� J	��
 J��" P�!�  - ^����� P�E�� ����� ���!'�� ���#�� ?���
 �$�	1 ��(��
 ���,> ����, 	�- ��!� 	�#� ��(�� ��2�30 ��8�
�9� �"�	 . �� (E�� ����  
 B��*-

 ������ J����410 (E ���� 0��� . ����� ����#�40  ����� ����� 6�
12 J��$ �*�� . ����#�
 J���� ��
�*� �
���� ��
���� �8�	�
4�� ������ J����1  ��
��� ����� 6�
3 J��$ �*�� . 6���

 ��EC��� ����,  �
� �P�E�� ����� ����� ����� ���!'�� ���#��� ����� 6���� �����#��� ���	�� ((E�
���8	�- �8��� . 0��� 6��#��� ��" P�E I*- ������ �!�8000  ���� )�#�� 	�#
 	���� �����

6��#��� ��" P�E I*- 	�" �����.  

����:  

 �����
 ��7�� �-�(��4� ���	(2-15-a) ���	
 . �����  
 ���(2-15-b)  ������ ��� H7��
 	�- 	�#��� ��(�� ��2� 6��#��� ��"  - ^����� 6�#���ψ=30o.  

<  ����*�  ���(C)  ��"�� P�E ����� �(������ ���#�� �EC�  
 ��"�� �� _�'��� I*- (�
����
 	�- B���E� �^����� 6�#��� ������ ��#� J������ ������ �EC�  
  ��� @�
 ��� �P�!��� ����� S	�

���2��.  
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 ���(2-15-a) J��/��� ��,�� �&�'�� � ���	  

  



  
 ���(2-15-b) %�
/��� ��, (& F��#�� 2���� ��
� ���.  

 	�- J��������� ��"�� ��+�� S	�ψ=30o  J��� ������ ��1  � 
	
� ^����� ������ ��1  
 	"�
 @���1mV.3  B������  ���� ��/-3� ������� ������  %� ���
� �!� �� ������  
 ��
�

mV.3  J������ ����*�)���#�� ��$ 	��!� ����.(  

2.
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=mV  

 ���� ������ ��1  %� @���  
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< �12!��
 I(!� P�E�� ����� ���!'�� ���#��:  
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<  ���- 	�- ����� �� ����� ������� �P�!���  - ^����� ?������� ������ ��� H7�� ���	
 �����
����� ����� ����� ����#�  � @
��� 6� �-�(��� . .��°= 4.5ϕ.  
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 ���)I�15�2 (����� ����
 2���� ��
�.  

 
 

 ����(24):  

 6��#� ��"  � J�F ���(�� J	��
 J��" P�!�  - ^����� P�E�� ����� ���!'�� ���#�� ?���
 @�� ������ J���� ���� ��(�� ��2�380 (E ���� 0��� . ����� ����#�4  ����� ����� 6�
8 

J��$ �*�� . ��
���� ������ J���� ����#�1  ��
��� ����� 6�
3 J��$ �*�� . ���� ��� 6���



�8	�- �8����� ��(��
 ��EC��� ����,  �
� �P�E�� ����� ����� . 6��#��� ��" P�E I*- ������ �!�
 0���6000 � ��" P�E I*- 	�" ����� ���� )�#�� 	�#
 	���� �����6��#�� . ��$ ((E� 6���
���	��.  
����:  

-1  6,*� ���(�� J	��
 ^��!� ��"  - ^����� P�E�� ����� ���!'�� ���#�� ?���  �  ���� I��
)
(��� ������� �E	�� ���� ���!�.  

 ����
� �!� J� ���� I*- )
( @"�E ���� �	�#� ��F ���
�-�  ��� ���(�� ��2��� 6��#��� ��"
������ I*- )
(��� ������ �$ ������� ������  %� ��� . ������ ��#� ������ @���1  ���� ��$�

 J����� 6�#���  - ^����� �������  

mC VU .3=  
=�� H7�� ���	
 ������.  

  
 ���)+�16�2 (%�
/��� ��, 2��.  

< ��(!��� 6�#�� )�
(�
:  
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 ����� ����� ��EC��� ����,�12!��
 I(!�:  
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 ���)A�16�2 ( ��	������ ���	��– ������
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��� �E;&.  

  
 
 

 ����(25): 

��7������ 0������� �	��#� ��(�� ��2��� J��"�� P�!��� 6	E��� . �	��1  ��� ��� ���  �

 ��"�� ��$ ����-)Y	#�� 0��*�- �
���� 0�7
��� 	���� �8��	( ^����� ?������� ������ ��� 6���� �



 �-�(��4� ���- ����, 0��� ��> ���"�� ��$  �Cos φ=30o  �� ����� ������ ��� 6��� 	�

=����� ���(
.  

� ��"�� ��$ 		�� ���+�  ��� ���.  
< ��"�� ��$ P�E ���� ���+�  ��� ���.  

 �7
��� &�- ��	!� 6�/� 
	
� ��Pulse Width Modulation  0�"�!��� �	��1  ��� ����
^����� 		����� ������
 6������.  

����:  

<  �"��  - ���
- �!"�� ���� ��3� � ����� ����#� I*- 	��!� �7
��� &�- ��	!� 6�/� 
	
�
 	����� ���!�� 		���� J� ��*���� ����*� I�/!�� ���#�� J���� ��/-
 ��(� 0�� ��
�" ?����� ����

�7
��� &�- ��	!�� @��	E��� .		���� 0�� ����� ���*���� �"���� �$ ������ ������ �  ���!��(1-

10KHz) . ��3� �(�#�� Y	#� ���*���� �"����  � �
�
 �!"���� ����*� ��/�*�� ���#��  ��� ��	�-
) B�7�� ( �(�#*� ������� 0����  %� ��� ��(�#�� ��$ ��'� �+�
 ��!"���� �"����  �� S	��

 �������  ���  � ��� ��	�� �2E)0�7
��� &�- ��	!� (7
��� ��$ 6��� ���� ?�1
 0�
P�E�� �"�� �� 0��#������ �
�� &'E�� I�� ��
�"�� �"��*� ���.  

<  )��(  - 6�� ��� 6	E����� P�!�*� P�E�� 		�� ���+� �!"���� ������ 		�� ���+� )��(  - 6��
P�!��� P�E ����� ���!'�� ���#�� ���+� �!"���� ������ ��(� ���+�.  

1<=
C

r

V

V
m  

< ����  ���Y	#�� 0�7
� ��	 ���+�
 ��"�� ��9� 		����
 6�.  
<  �� �
 P�!��� I*- ������� �E	�� ���� ���+� )��(  - ?������� ^����� ������
 6�����  ����

 ���!�� ���+�
 �7
��� &�- ��	!� 6�/�)m (O��3� ���� I�> �!"���� ������ �
�� �$� . .��
 ������� ����  ��#� ?
�� ���+��� ��$P�!��� �(��#� @�	��, �
.  

� �
'�� !�;��� .��,�� 2�:���:  

 P�!�*� �-�(��4� ���	:  



 
�7
��� &�- ��	!� 6�/� 
	
� H7�� ���	
 ����� 

  
 ���)+�19�2 ( 		���� ��& !������ ������
 !:,���� ��
���– J	/�� ��H0#.  

 
 
 



  
 ���)A�19�2 ( �&�'�� � ���	–  J	/�� ��H0#– K;��� ��
'3� ��
�.  

< P�!���  - ^����� ?������� ������ 		��
 6�����  ��� �!"���� ������ 		�� ���+� )��(  -.  
<  ���	
 ������ ^����� ?������� ������ ���#
 6�����  ��� �!"���� ������ ��(� ���+� )��(  -

 0�7
�� ���!�� 		���� �"��� �!"���� ������ �"�� H7�� C��� �7
���  
 /�2�� �"����� Y	#��
 ���*���� �"����  � �
�
 �!"���� ������  ��� ��	�-.  



  
 ���)I�19�2 ( %�9#� J	/�� ��H0#P,W.M.  

  
 ����(26):  

 ���!� ���1 �� �
�"�� ?������� �E	�� ���� ���(�� J	��
 P�	�V=240V  		�� 	�-50Hz ��> �
 ����� �!���� 0���Z=(7.1+ j7.1)Ω . ����,�� 	�- ����� ����� ���� ?���ϕ ���#�� ��� �

 P�	�*� ��EC��� ����,  ��� ��	�- =��� �T ��!'�� P�E�� ����� �P�E�� ����� ���!'��
6

π
α = . ���

T�E	*� �-�(��4� ���-.  
����:  

 P�	��� �� ���	� 6*!� ���(Phase Regulator) ������� ��+��
 6���� ?"���� ����� �� ��
?������� �E	�� ���� �"��  � ?����� ����� �� O��!� ��"��
 (�
���� ���������� . =���$�

 ����,�� ���+�� ��"�� 	�	�(α) ����� �� �-�(��4� ���- ����,� B�!
� ���,U� ����, �φ .  ����
.2��� ��+���� 04�� 69'� J�/��� K,"�� �� .  

 �3� ����� ���� �������
 I(!� ����� ���� ���	� ����� ��:  
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ϕα <⇒<  

����� �-�(���  %� @�*-� ������ ����� ����  %�:  
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 ����(27):  

 �����
 @���	 ���
� ��(�� J	��
 ?����� ���� 6/��)
<24<2 ( ����
 ����#�
 �� f�R=10Ω .
 �E	�� ����VS=120V  �60Hz . �������*� ��EC��� ����,T1�  

2

π
α = .�*� ��  e�
:  

-a  P�E�� ����� ���!'�� ���#��V0.  
-b  �E	�� �-�(��� ���-PF.  
-c (������ �E	�� ����.  
  

����:  

  
 ���)+�24�2 (–a �&�'�� � ���	.  
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 ���) A�8L �8 ( M� J	/�� ��H0#
 2���� ����
 ��
� �,
�T1
T2.  

A  < P�E�� ����� ���!'�� ���#�� ?��� ���	
 �	����� �12!��  �.  
< P�E�� ����� �(������ ���#��:  

���1��� 6�#�� �EC
:  

VV 92.103
4

3
1200 ==  

-b (E�� ����� ���!'�� ���#��:  

A
R

V
I 392.10

10

92.1030
0 ===  

����� �-�(���  
( ) WRIP 94.107910392.10. 22

00 =×==  
 �
 �E	�� �-�(���  %� ������ ���� O'� �$ �E	�� ����  
 ��
VA �$:  

AVIVIVAV SSS .04.1247392.10120... 0 =×===  �-�(��4� ���-
�E	*�:  
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-c �E	�� ����� �(������ ���#��:  
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 ����(28):  

 ��( �	
�)���� P�	� ( ��(�� J	��
Mono Phase Regulator ?����� ���� �
��  � S�+� �
 ���� 	�-220 0��� . ��	1 �-�(��� ���- J� �7���� ���
 ���0.7 . ����� ����#�4  �6�


 ��!�� 		��50 ,��$ . �$�	1 ���,> ����, 0���������� I*- )
(25 ��8�
�9� �"�	 . ��� 6���
 ��������  ������� �� ����� I*- @#�
(�  ������ ����� ������� ������:  

-1  ,��"�� 4 �#�7 Y	#�� �7
� &�-  �� ����3 ��8�
�9� 0�"�	.  
-2 �7
� &�-  �� ���� ,��"��� �7��- Y	#�� 060 ��8�
�9� �"�	.  

6�#�� �1�
 ��4	
 �9
��� �
 �9"���� ���1 ��
 &���.  
����:  

������ �����  � �$ J	��3� ��(�� �	
�:  



  
 ���)
<26<2 (�-�(��4� ���	.  

Cos φ = 0.7  �	�!� �� J
45o . 6�/��� I*- �#
(��� ��(��
 ���,U� ����,  
 ��
25  ��$ ��"�	
 ��"��� 	�- ��!� ��(�� �	
�  
 ��!�0< ψ< φ  ������� �� ������� ������ ��� 6��� �

�*� �� ���	�  ��
�*(���:  
I��3� ������ : ,��"�� 4 �7
��� &�-(3) 0�"�	: 
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R
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V
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 ���)A�26�2 ( J	/�� ��H0#– N��#
��
 2���� ����
 2���� ��
�.  

 



 ?�� ������ I(!��� �����*� ��������� ��$ �#��� ���3� ��������� I*- �7
��� )�
(� S	�
�#
���� �12!�� . ��$i f  �il   �,�� 	�- ������ 6	!���� ����U� O'�  �ωt1> π+φ  	��C���
 �$�

  � �
�
π+ψ  �7
��� &�-  
 ��
�3 � �8	�- 0�"�	 Y����� �
1 09��� 	1 �7
���  ���
������� ����� �#���  
  ��� 4 ��� ��������
 ������ �������*�.  

��!*� B�7�
 ��3� ��������� 	�!� ������ ��	�� �� . ��(�� �	
� ��!� 4 ������ ��$ �� B��> ���$�
 J	��
 6�#�� ��!� �$� ���	�� �'�� �2E)	��� ������� .(  ��� 4 B��> �� ��!��
 ������4�

��( �	
�� ������ ��$. 
< ��3� ��������� I*- �7
��� ��#
( ���
 &�'
 . ������ �������
 
	
�� ��������� ��$  
 	"�

  �,�� I�� ������t1 . ������ ���������  ���  �,�� ��$ 	�-Th2  @�*-� �?"�� ���� 0�� B�!1��
  �,��  � �#
(� �
"�� �7
�)t=π+ψ ( �97�- �7
���  
 ��
�60 �"�	 .  %�Th2  �#��� ���

  �,�� I�� ����� ���� ����� ���$� �����*�t2 I*- �7
��� )�
(� 	�!� .�� �Th1  ��� J����
������� ����� ���$� �#
(� 0��,�� �7
���  3 �����*� �#���.  

<  ��!'�� ������
Z

V
I = (�#� �8	�- ��!� P�	����)*+� �.  
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 ���)I�26�2 (�H��& J	E ��H0#� ����� ����
 2���� ��
�.  



�9�;� :  

 S�E
 ��+�� 04�� �	���� ���� �-�(��4� ���- ����,� ������ ��(��
 ���,U� ����, �9��  ��
 ������� ����3��� �-�(��4� ���- ����,  � �
�
 ��(��
 ���,U� ����, �9��  ��� 04�� �	���

  ��� ��	�- @�
 ��� S��� 04���� ��$ H7��α=φ  P�	���  %� &�!�� ����� Y	#�� �7
�� �
�������� �(�#� ��!��  ?����� ���� �"�� �����  

  ��� ��	�-�α >φ �� ��!�� ������ ��3� �(�#�� ��!� ��� ��� &�- 0�� Y	#�� �7
�� �
 )�
(� ��� ��� ������ ��������� I*- Y	#�� �7
� )�
(� �
1 ��!��  - �#�� ?����� �����

� ����� �� ��!��
 ������ ��!��
 
	
� ��� ������ ��������� I*- �7
���  - �1���� ?"���
 ����� ��� ��3� �(�#�� ��+�� �/�� �
1 ��!��. 

 =*� �2E ��(�� ���� J����� �9
 ��!� 4 ���� ���'�� �� C��� ������� �� I*- ���!�� ������
 ���'��.  

  
 

  
 ���)2�26�2 ( 	#& ��
��� ���α>φ �1#& ��� ��1
��� ����"
5  



 

 ���)	�26�2 (  �&�'�� � ���& ��
�
 (� �0�+ �
'��0 ���
- ��
�
 	#& ��:� ��
� %9#�

 ����� 5 ˃ φα 

 

 ���)O�26�2( �&�'�� � ���& ��
�
 (� ��1+ �
'��0 ���
- ��
�
 	#& ��:� ��
� %9#��

  �����  .α<φ  
 

 ����(29):  

 	�#� ��(�� J	��
 P�	�(Single- Phase Full- Wave Controller)  �� ��� 



�����)
<29<2 (�7���� ��� J�+� ����	
 . ��!'�� �E	�� ����VS=120V �60H . ����

 �����L=6.5mH  �R=2.5Ω . ��(��
 ��EC��� ����,
221

π
αα == �*��� 		�:  

-a  ��������� ����� ����T1(δ).  
-b  P�E�� ����� ���!'�� ���#��V0.  
-c ��!'�� ��������� ����.  
-d  ��!'�� P�E�� ����I0 . �������*� (�������IA �E	�� �-�(��� ���-�.  
F–   ������ ����
 6���� �7���� ���� ���
 ��� 	�- ��(�� ��	��3� 0�"�	��� ��- �*�

 ���� �� �� ��!��� ������� 0����  �
� ���!�� ������� �������.  
G<  ������ ����
 6���� �7���� ���� ���
 ��� 	�- ��(�� ���2��� 0�"�	��� ��- �*�

 ���� �� �� ��!��� ������� 0����  �
� ���!�� ������� �������. �'*�E��� ������� )�( ����
 ��(�� ���2��� 0�"�	�*��  

����:  

  
 ���)+�29�2 (–a �&�'�� � ���	  .b � �1���
 �1
�� ��
�
.  

 0��� ��>tSinVv SS ω2=  ��/��� �E	�� ����α1  �������*� ��EC��� ����,T1  �i1  @�%� ������
�12!�� ���	�  ��� Y	#�� S	�:  

( )1.........................2. 1 tSinViR
dt

di
L S ω=+  

�����  �  ���� �2-
 �12!�� ��:  
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 0
����A1 	�- @�
 .�� ����3� (�����  � �	�	��  ���:  
01 =⇒= it αω  

 �2-
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 ��������� ���� �$	�- 6	!�� ���� �$T1 .��
 (�����  � �$	�	��  ���� �:  
( ) 01 == βωti  

�2-
 �12!�� �� &��!���
�:  

( ) ( ) ( )5.................
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R

eSinSin  
 ����,��β  K�'(U� ����,
 ����!���(extinction angel)  P����� �12!�� ��$  � �$	�	��  ���

 J����� �� 6�	E��4 �9*��(iterative solution) . ���!� S	�β  ������� ����,) ���� �

������� ( ����,���δ  �������*�T1 �12!��  � �$	�"�>  ���:  

( )6.....................αβδ −=  
< �12!��
 I(!� P�E�� ����� ���!'�� ���#��:  
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